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Q1 Let the impulse response h(t) for a linear time invariant system as shown below
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The system is

Has memory h(t) # At)
Causal h(t)=0 for t<0

Not Stable BIBO [ Nt =[—e Tt = [dt - [e-'dt = co—1 =0
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Q2 Letx(t) and y(t) be as shown below:
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Evaluate convolution integral x(t)*y(t) ?

X(0)*y(©) = [ y(2) x(t— A

t<-1 = x({)*y(t)=0  ( No overlapping)
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-1<t<0 =x®*yt) = [ (Q(e7)d2 =2(-e)
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O<t<1 :>x(t)*y(t)=j‘(—2)(e‘ﬂ)d/1 + J'(Z)(e‘*)d/l

=2(e"' -1) +2e'(1-e)
=33e"'-2

t>1 = x(t) * y(t) = j (—2)eH)dA + T(z)(e—ﬂ)d/l
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Q3 Let x(t) be a periodical signal as shown below:
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